Academic Students	Higher Education A and Not		No Additi Higl	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found	
11010100 - Computer and	Information	Science:	s, Genera	I							
Graduate	0	0.0%	4	100.0%	0	0.0%	4	100.0%	0	0.0%	4
Non-returner	2	11.1%	10	55.6%	2	11.1%	14	77.8%	4	22.2%	18
Total	2	9.1%	14	63.6%	2	9.1%	18	81.8%	4	18.2%	22
13120600 - Teacher Educa	ition, Multip	le Levels									
Graduate	6	22.2%	11	40.7%	8	29.6%	25	92.6%	2	7.4%	27
Non-returner	6	10.0%	40	66.7%	7	11.7%	53	88.3%	7	11.7%	60
Total	12	13.8%	51	58.6%	15	17.2%	78	89.7%	9	10.3%	87
23130400 - Rhetoric and C	omposition	1									
Graduate	0	0.0%	0	0.0%	2	66.7%	2	66.7%	1	33.3%	3
Non-returner	2	20.0%	4	40.0%	3	30.0%	9	90.0%	1	10.0%	10
Total	2	15.4%	4	30.8%	5	38.5%	11	84.6%	2	15.4%	13
24010100 - Liberal Arts an	d Sciences	/Liberal S	tudies								
Graduate	6	18.8%	10	31.2%	11	34.4%	27	84.4%	5	15.6%	32
Completer	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Non-returner	62	19.6%	126	39.7%	63	19.9%	251	79.2%	66	20.8%	317
Total	68	19.4%	136	38.9%	75	21.4%	279	79.7%	71	20.3%	350
24999999 - Undeclared Ma	ijor										
Non-returner	96	26.4%	81	22.3%	77	21.2%	254	69.8%	110	30.2%	364
Total	96	26.4%	81	22.3%	77	21.2%	254	69.8%	110	30.2%	364
26010100 - Biology/Biolog	ical Science	es, Gener	al								
Graduate	1	50.0%	1	50.0%	0	0.0%	2	100.0%	0	0.0%	2
Non-returner	23	24.0%	25	26.0%	28	29.2%	76	79.2%	20	20.8%	96
Total	24	24.5%	26	26.5%	28	28.6%	78	79.6%	20	20.4%	98
43010400 - Criminal Justic	e/Safety St	udies									
Graduate	1	10.0%	5	50.0%	1	10.0%	7	70.0%	3	30.0%	10
Non-returner	2	5.4%	22	59.5%	2	5.4%	26	70.3%	11	29.7%	37
Total	3	6.4%	27	57.4%	3	6.4%	33	70.2%	14	29.8%	47
45110100 - Sociology											
Graduate	1	25.0%	0	0.0%	1	25.0%	2	50.0%	2	50.0%	4
Non-returner	1	4.8%	9	42.9%	2	9.5%	12	57.1%	9	42.9%	21
Total	2	8.0%	9	36.0%	3	12.0%	14	56.0%	11	44.0%	25
52010100 - Business/Com	merce, Gen	eral									
Graduate	6	25.0%	7	29.2%	9	37.5%	22	91.7%	2	8.3%	24
Non-returner	11	14.9%	35	47.3%	17	23.0%	63	85.1%	11	14.9%	74
Total	17	17.3%	42	42.9%	26	26.5%	85	86.7%	13	13.3%	98

Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
<b>99999999 - Undeclared Maj</b> Undeclared Total	or 0 0	0.0% 0.0%	16 16	61.5% 61.5%	0	0.0% 0.0%	16 16	61.5% 61.5%	10 10	38.5% 38.5%	26 26

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
11010100 - Computer and Information Sciences, General														
Graduate	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
Total	0	0.0%	0	0.0%	1	50.0%	1	50.0%	1	50.0%	2			
15040400 - Instrumentatio	n Technolo	gy/Techn	ician											
Graduate	2	16.7%	4	33.3%	1	8.3%	7	58.3%	5	41.7%	12			
Non-returner	1	3.1%	21	65.6%	1	3.1%	23	71.9%	9	28.1%	32			
Total	3	6.8%	25	56.8%	2	4.5%	30	68.2%	14	31.8%	44			
24010200 - General Studie	s													
Non-returner	5	23.8%	6	28.6%	3	14.3%	14	66.7%	7	33.3%	21			
Total	5	23.8%	6	28.6%	3	14.3%	14	66.7%	7	33.3%	21			
41030100 - Chemical Tech	•••													
Graduate	0	0.0%	0	0.0%	1	50.0%	1	50.0%	1	50.0%	2			
Non-returner	0	0.0%	1	33.3%	1	33.3%	2	66.7%	1	33.3%	3			
Total	0	0.0%	1	20.0%	2	40.0%	3	60.0%	2	40.0%	5			
48050800 - Welding Techn														
Graduate	0	0.0%	3	42.9%	0	0.0%	3	42.9%	4	57.1%	7			
Non-returner	0	0.0%	1	25.0%	0	0.0%	1	25.0%	3	75.0%	4			
Total	0	0.0%	4	36.4%	0	0.0%	4	36.4%	7	63.6%	11			
49030900 - Marine Science	e/Merchant	Marine O	fficer											
Graduate	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2			
Total	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2			
51060100 - Dental Assistin	ng/Assistan	t												
Graduate	0	0.0%	14	70.0%	2	10.0%	16	80.0%	4	20.0%	20			
Non-returner	0	0.0%	7	53.8%	0	0.0%	7	53.8%	6	46.2%	13			
Total	0	0.0%	21	63.6%	2	6.1%	23	69.7%	10	30.3%	33			
51080500 - Pharmacy Tech	nnician/Ass	istant												
Graduate	0	0.0%	1	25.0%	0	0.0%	1	25.0%	3	75.0%	4			
Non-returner	1	14.3%	6	85.7%	0	0.0%	7	100.0%	0	0.0%	7			
Total	1	9.1%	7	63.6%	0	0.0%	8	72.7%	3	27.3%	11			
51090400 - Emergency Me	dical Techr		chnician (		medic)									
Non-returner	1	2.0%	36	73.5%	2	4.1%	39	79.6%	10	20.4%	49			
Total	1	2.0%	36	73.5%	2	4.1%	39	79.6%	10	20.4%	49			
51100900 - Phlebotomy Te			ist											
Non-returner	0	0.0%	2	50.0%	0	0.0%	2	50.0%	2	50.0%	4			
Total	0	0.0%	2	50.0%	0	0.0%	2	50.0%	2	50.0%	4			

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
51380100 - Registered Nui	rsing/Regist	tered Nur	se										
Non-returner	5	2.7%	105	57.7%	5	2.7%	115	63.2%	67	36.8%	182		
Total	5	2.7%	105	57.7%	5	2.7%	115	63.2%	67	36.8%	182		
51390100 - Licensed Practical/Vocational Nurse Training													
Non-returner	3	2.0%	76	51.7%	10	6.8%	89	60.5%	58	39.5%	147		
Total	3	2.0%	76	51.7%	10	6.8%	89	60.5%	58	39.5%	147		

Tech-Prep Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
11010100 - Computer and											
Graduate	1	25.0%	2	50.0%	0	0.0%	3	75.0%	1	25.0%	4
Non-returner	0	0.0%	6	66.7%	0	0.0%	6	66.7%	3	33.3%	9
Total	1	7.7%	8	61.5%	0	0.0%	9	69.2%	4	30.8%	13
41030100 - Chemical Tech	nology/Ted	hnician									
Graduate	3	5.5%	36	65.5%	2	3.6%	41	74.5%	14	25.5%	55
Non-returner	1	1.4%	46	63.9%	1	1.4%	48	66.7%	24	33.3%	72
Total	4	3.1%	82	64.6%	3	2.4%	89	70.1%	38	29.9%	127
43010200 - Corrections											
Non-returner	0	0.0%	3	60.0%	0	0.0%	3	60.0%	2	40.0%	5
Total	0	0.0%	3	60.0%	0	0.0%	3	60.0%	2	40.0%	5
51380100 - Registered Nur	rsing/Regis	tered Nu	se								
Graduate	1	2.2%	24	53.3%	2	4.4%	27	60.0%	18	40.0%	45
Non-returner	1	4.3%	11	47.8%	1	4.3%	13	56.5%	10	43.5%	23
Total	2	2.9%	35	51.5%	3	4.4%	40	58.8%	28	41.2%	68
51390100 - Licensed Pract	tical/Vocati	onal Nurs	e Training	l							
Graduate	19	17.9%	45	42.5%	27	25.5%	91	85.8%	15	14.2%	106
Non-returner	0	0.0%	17	50.0%	6	17.6%	23	67.6%	11	32.4%	34
Total	19	13.6%	62	44.3%	33	23.6%	114	81.4%	26	18.6%	140
52020100 - Business Adm	inistration	and Mana	igement, G	eneral							
Graduate	0	0.0%	8	66.7%	1	8.3%	9	75.0%	3	25.0%	12
Non-returner	0	0.0%	14	58.3%	0	0.0%	14	58.3%	10	41.7%	24
Total	0	0.0%	22	61.1%	1	2.8%	23	63.9%	13	36.1%	36

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Graduate	21	19.8%	38	35.8%	32	30.2%	91	85.8%	15	14.2%	106
Completer	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Non-returner	205	20.6%	352	35.3%	201	20.2%	758	76.0%	239	24.0%	997
Undeclared	0	0.0%	16	61.5%	0	0.0%	16	61.5%	10	38.5%	26
Total	226	20.0%	406	35.9%	234	20.7%	866	76.6%	264	23.4%	1,130
Total Technical Students											
Graduate	2	4.2%	23	47.9%	5	10.4%	30	62.5%	18	37.5%	48
Non-returner	16	3.5%	261	56.4%	22	4.8%	299	64.6%	164	35.4%	463
Total	18	3.5%	284	55.6%	27	5.3%	329	64.4%	182	35.6%	511
Total Tech-Prep Students											
Graduate	24	10.8%	115	51.8%	32	14.4%	171	77.0%	51	23.0%	222
Non-returner	2	1.2%	97	58.1%	8	4.8%	107	64.1%	60	35.9%	167
Total	26	6.7%	212	54.5%	40	10.3%	278	71.5%	111	28.5%	389
Total Technical/Tech-Prep	Students										
Graduate	26	9.6%	138	51.1%	37	13.7%	201	74.4%	69	25.6%	270
Non-returner	18	2.9%	358	56.8%	30	4.8%	406	64.4%	224	35.6%	630
Total	44	4.9%	496	55.1%	67	7.4%	607	67.4%	293	32.6%	900
Grand Total											
Graduate	47	12.5%	176	46.8%	69	18.4%	292	77.7%	84	22.3%	376
Completer	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Non-returner	223	13.7%	710	43.6%	231	14.2%	1,164	71.5%	463	28.5%	1,627
Undeclared	0	0.0%	16	61.5%	0	0.0%	16	61.5%	10	38.5%	26
Total	270	13.3%	902	44.4%	301	14.8%	1,473	72.6%	557	27.4%	2,030